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Bk JE 69 7,887 54 40 5,463 22 584 5,496 321 693 5,732 397
= Ji 722 6,564 474 8 5,350 4 2,000 4,747 949 2,730 5,229 1,428
= Ik 1,131 7,375 834 160 4,573 73 802 6,934 556 2,093 6,992 1,463
h, 'S 193 7,972 154 87 6,029 53 736 7,191 529 1,016 7,245 736
3 it 1,003 5,382 540 22 3,105 7 424 3,223 137 1,449 4,716 683
SR X 3 3,212 6,618 2,126 708 5,215 369 9,365 6,295 5,895 13,285 6,315 8,390
oA R 67 6,812 46 228 5,116 117 1,821 6,071 1,106 2,116 5,992 1,269
o 4 153 7,071 108 196 4,990 98 2,056 6,206 1,276 2,405 6,162 1,482
A i 20 7,155 14 70 5,211 36 474 6,473 307 564 6,341 357
A 93 6,719 62 132 5,086 67 616 6,279 387 841 6,140 516
Ei X
bl
ke = |
o el A X 3 333 6,937 231 626 5,081 318 4,967 6,191 3,075 5,926 6,115 3,624

TR BB




(Q)SESEVEERRDHER

3

107 —/Vv

(k) X % T w7 D B A R A E AR
a kg t M !
11/12 |G 53,552 6,954 37,240 19,995 744,616,806
EA 1 21,000 7,132 14,978 19,639| 294,145,872
I s 10,451 6,657 6,957 19,947| 138,772,997
b i 14,371 7,170 10,304 20,370/ 209,892,480
B S X 7,730 6,470 5,001 20,356 101,805,457
12/13 [N 46,094 6,039 27,838 20,533| 571,608,346
B G X 15,900 5,787 9,207 20,616 189,830,915
£l Hb X 10,240 5,819 5,958 20,271 120,780,494
B ot X 12,829 6,486 8,321 20,567| 171,141,919
i i Hb X 7,125 6,108 4,352 20,647 89,855,018
13/14 (AR 45,929 6,183 28,397 20,698 587,747,373
HE) I Hi X 14,290 6,373 9,107 20,658 188,134,457
A )11 Hi X 10,060 6,282 6,319 20,450 129,229,562
B RSk X 14,638 6,070 8,885 20,884 185,562,383
s 3 Hi X 6,941 5,887 4,086 20,758 84,820,971
14/15 (SR 44,434 4,799 21,326 20,090 428,433,996
HL A Hi X 13,820 4,923 6,804 20,086 136,659,672
)11 Hh X 10,127 4,548 4,606 19,682 90,657,381
B R 1 X 14,178 4,803 6,810 20,291 138,185,969
5 1 Hi X 6,309 4,923 3,106 20,259 62,930,974
15/16 |20 0N 42,896 6,195 26,572 20,495 544,585,944
HAG) ] Hi1 X 13,290 6,172 8,203 20,406 167,386,873
O H X 10,395 6,114 6,355 20,208 128,427,123
B TR 1 X 13,285 6,315 8,390 20,676 173,473,065
s 1l Hh (X 5,926 6,115 3,624 20,779 75,298,883
16/17 |[BE 2RSS 42,100 6,001 25,263 19,874 502,081,927
H) 1 i< 12,500 5,890 7,345 20,051 147,272,728
A )11 He X 10,200 6,112 6,234 19,728| 122,981,140
B BIS gk 1 X 13,100 6,261 8,217 19,671 161,629,633
5 Hi X 6,300 5,468 3,467 20,248 70,198,426
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(10) ESESZFVEREBEDHER AT 20, %
4 N ¥y it FAE PRH
e 7 AN | b | mRt | WeR|  mak | eR| mm | E
11/12 |[PS 53,552| 100.0 4,036] 7.5 6,971} 13.0 42,545| 79.6
BB H X 21,000 100.0 400 1.9 3,600] 17.1 17,000{ 81.0
)11 HE X 10,451| 100.0 416 4.0 1,580] 15.1 8,455| 80.9
B TRk i1 X 14,371 100.0 2,950/ 20.5 851| 5.9 10,570| 73.6
s X 7,730 100.0 270 3.5 940| 12.2 6,520 84.3
12/1312 & & W 46,094| 100.0 3,603] 7.8 4,545 9.9 37,946| 82.3
HG) 1 i< 15,900/ 100.0 200 1.3 1,600( 10.1 14,100| 88.7
£l Hy X 10,240( 100.0 298[ 2.9 1,951 19.1 7,991| 78.0
AR X 12,829| 100.0 2,132| 16.6 637 5.0 10,060| 78.4
s X 7,125 100.0 973| 13.7 357 5.0 5,795 81.3
13/1412 % £ MW 45,929| 100.0 3.753] 87 5,641 12.3 36,535] 79.5
HBJ X 14,290 100.0 470 3.3 1,680] 11.8 12,140| 85.0
)1l Hb X 10,060 100.0 217 2.2 1,716 17.1 8,127| 80.8
BRIk i X 14,638( 100.0 2,755 18.8 1,061| 7.2 10,822 73.9
5 i Hb X 6,941| 100.0 311| 4.5 1,184 17.1 5,446| 78.5
14/1520 28 & i 44,434 100.0 3,623| 8.2 4,666| 10.5 36,145| 81.3
HEJ 1 X 13,820 100.0 300 2.2 1,470( 10.6 12,050 87.2
)1 Hit X 10,127 100.0 192 1.9 1,619 16.0 8,316| 82.1
B ARk X 14,178| 100.0 2,960| 20.9 860[ 6.1 10,358] 73.1
5 3 Hb X 6,309 100.0 171 2.7 717| 11.4 5,421| 85.9
15/16 [CaE ol il 42,896| 100.0 4,455| 10.4 6,297| 14.7 32,144 74.9
HEJ I H X 13,290 100.0 470 3.5 1,560( 11.7 11,260| 84.7
)1l Hh X 10,395| 100.0 440 4.2 3,403| 32.7 6,552 63.0
5 TR 35k X 13,285 100.0 3,212| 24.2 708 5.3 9,365| 70.5
s E Hh X 5,926 100.0 333 5.6 626 10.6 4,967| 83.8
16/1712 2 % i 42,100 100.0 4,200{ 10.0 4,600( 10.9 33,300( 79.1
H G X 12,500 100.0 200 1.6 1,200| 9.6 11,100| 88.8
)1l He X 10,200| 100.0 300| 2.9 1,800| 17.6 8,100 79.4
BRIk X 13,100 100.0 3,200| 24.4 700 5.3 9,200| 70.2
i E Hh X 6,300| 100.0 500 7.9 900| 14.3 4,900 77.8
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(1) REMBOHLIREHBLEREHBER

Hf:a, F
R T e B I -
EREds] mfn |EesEdk] mig [EesEds] mkE | EREas] @k

Dok 834| 62,170 23 529 801| 58,299 92 3,342
B & 14 1,014 6 166 13 848 — —
H % 1 66 — — 1 66 — -
in L7 20| 1,213 — — 19 1,166 2 47
5 B2 22 917 — = 19 808 7 109
BN i 2 170 — — 2 170 - —
= A 10 738 — — 8 633 2 105
I O ¢ 8 380 — - 7 186 4 194
J 53 19 870 — - 18 796 3 74
[ic} JE 9 439 - - 7 296 6 143
7 B4 5 339 — — 4 269 1 70
oA OB 36| 3,179 - — 36| 3,119 2 60
* 5 17 862 - — 16 763 | 99
UIN L] 6 355 — . 6 332 1 23
T Al 6 573 — — 6 573 — —
= B 4 236 — — 3 138 I 98
S | 14 942 — — 13 870 i 72
S N 5 236 — - 5 236 - -
& Jiit 17 652 — — 16 572 7 80
0} = 6 325 — — 6 314 I 11
J H 8 215 — - 8 185 2 66
et i 6 269 — — 6 269 - —
= BRI 13 749 1 16 11 541 3 192
FoOR O 8 454 — — 8 351 3 103
Eo M 15 602 - - 15 602 - -
PN M 2 197 — — 2 197 = —
(] J5 25| 1,381 - - 25( 1,381 - -
BGJ X5 298| 17,409 7 182 280 15,681 47 1,546
P 5 X 23 1,852 — — 22 1,741 3 111
hRAEIX 14 912 — — 13 808 3 104
X —1 6 262 — — 6 262 - —
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RESOHLIBEFRBERENMER —HS—

HA:a, &
U — I TGOS M —

EREEE] mifg |Eeetk| mfg |seEek] miE |EREds]
gL X —2 5 349 — — 4 300 3 49
BEX—1 5 202 — — 2 60 3 142
A EsIX —2 8 547 — — 8 547 — —
MEX—3 4 145 = — 4 135 1 10
HLX 11 547 — — 9 358 4 189
R IX 29| 2,828 — — 28] 2,349 4 479
EFATX 11 747 - — 11 747 - —
X 55| 3,928 - — 54| 3,539 10 389
A X 9 122 — - 2 122 — —
HRAAX 11 667 = = 5] 663 1 4
FEIR X 2 600 — — 2 600 — —
X 4 297 = = 3 135 4 162
)1 X G 190| 14,005 — — 179| 12,366 36 1,639
R fiHl 25 1,133 16 347 22 786 - -
i J5 4 160 - - 4 149 1 11
B W 6 512 - - 6 512 - -
fE 8] 9 609 = - 9 609 - -
B B 4 23| 1,033 - = 23 1,033 - -
HE 5 12 764 - - 12 734 i 30
i 23] 6,390 — = 23] 6,390 - -
= b 32| 2,867 - — 32| 2,867 - -
th 7S 18 1,590 — — 18 1,590 - =
fF gt 20 6,199 - - 20l 6,199 - -
B ek it X R 172| 21,257 16 347 169| 20,869 2 41
OO JE 49| 2,539 - - 49| 2,499 4 40
VA 411 2,307 - - 411 2,307 - -
M ] 8 294 = - 8 291 1 3
¥ #Hm B 22 883 ~ = 22 883 - -
H B 50| 3,193 N ~ 49 3,120 2 73
e 3 213 - - 3 213 - -
[ e 1 70 = . 1 70 = =
5 8L it DX FE 174 9,499 = = 173| 9,383 7 116

EhL: 20054 F M E YA
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(12)8 =

HLA7 S, 85, M

e P A FLH A JK RIS
| BT msom | m |msom | m | mem | wi | R | RN
GRE s
3 H ) i1 71 1,348 1 39 43| 17,816 49 12,669
15361 A )1 X
i G X 55 821 0 0 16| 5,308 10| 32,521
5 3 Hb X 279 0 0 4,033 1,700
S Ea D 188 5 190 2 85 107 42,511 99| 54,774
F HE) 11X 75| 1,372 1 18 41| 17,944 64| 13,083
Fzz A )11 HE X 50 589 1 67 31| 15,017 31| 1,991
da H R X 54 881 0 0 15| 5,201 2 37,800
B i Hh X 9 290 0 0 200 4,349 2/ 1,900
9% 20 i 194 3,165 2 78 84! 30,527 76| 48,777
F H5 )1 Hs X 76| 1,437 1 20 37 16,350 53| 11,574
’15%», A )11 H X 54 650 1 58 14| 5,437 19 1,603
i BT sk X g3 776 0 0 12| 5,061 2| 33,800
Ji L Hi X 11 302 0 0 21| 3,679 2 1,800
B B e ah 1911 3,161 2 81 89 31,729 76| 37,986
G HB )| #i1 X 76| 1,467 1 28 35| 14,683 54/ 10,773
’13551 A )1 H X 51 598 1 53 23| 9,428 18| 1,413
i B 1 5k i X 50 862 0 0 11 4,299 2| 24,000
i 3 Hh X 14 234 0 0 20/ 3,319 2| 1,800
5 At T 192G 0 6T 3 50 82/ 30,324 74 25,095
V- HAG) i X 74| 1,495 2 24 33| 12,978 53| 11,780
{&5 A )11 Hi X 49 520 1 26 23| 11,084 18 415
i B0 st X bh 915 0 0 11 3,002 1 12,000
1B i Hi X 14 227 0 0 15| 3,260 2 900
e i ST 2 56 78| 28,907 T8I 05 698
- B X 73] 1,492 1 32 33| 12,983 53| 11,780
f%; A )11 Hi X 42 467 1 24 20 10,277 23 543
i B 31 5k 1 X 55 953 0 0 10| 3,284 1| 12,500
W5 B i X 17 305 0 0 15| 2,363 1 800
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(13)# &

A7 tha,t, TR

el B 3% Gl s A KL
i3 o mRE | IoHER | mRE | UURER | mORT | IR | mAE | AUHER
9.5 & ih 138] 2,857 36 374 135 47,869 14 67
V| B 62| 1,560 12 89 84| 29,500 10 50
1553 £ )11 H X 19 326 17 270 41| 15,300 1 1
1 gt oo 4 1 2 689 3 16
Jb5 3E Hi X 46 760 3 4 8 2,380 0 0
SE T 143 3,180 36 268 142] 52,089 14 76
V| BT 59| 1,580 12 66 90| 32,600 10 57
15% )11 M X 17 287 17 187 43| 16,500 1 1
F B B Sk 1 X 13 233 4 12 2 729 3 18
5 B i1 X 54| 1,080 3 3 7| 2,260 0 0
5% 5 £ h 130] 3,042 30 203 134| 50,679 14 66
V- B X 57 1,520 11 49 85| 32,400 9 47
15%3 £ I H X 16 344 14 141 41| 15,900 1 1
i B 018 Sk 1 X 12 235 3 11 2 649 4 18
W5 il X 45 943 2 2 6/ 1,730 0 0
355 T 127 2,879 27 205 127, 45,574 1l 81
VB X 48| 1,330 10 64 81| 29,300 6 50
15542; )l X 12 327 12 128 39| 14,100 1 1
| Gt 10 192 3 11 2 374 4 30
5 3 Hb X 57/ 1,030 2 2 5/ 1,800 0 0
9 sl 107) 2,839 33 212 128 46,058 11 45
T HAEJIHX 44/ 1,300 12 72 81| 29,500 6 16
15% )11 H X 15 388 12 118 39| 14,200 1 1
i G R X 10 191 5 18 3 558 4 28
5 JH Hb X 38 960 4 4 5/ 1,800 0 0
AH T 108/ 2,585 33 203 120/ 43,405 8 34
T HE)H 43| 1,220 12 68 78 28,300 6 32
’1% o)1 HiE X 18 399 13 105 36| 13,100 1 i
$ G R X 9 175 5 28 1 325 1 i
i 3H Hh X 38 791 3 8 5/ 1,680 0 0
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(14)iRFREEDOHERK

—.0T—

I i
s WEEH I | g nn ] irert TR RO IR B A
| WO wmr | s | Bk | RE | 5| EEE
e % 3 -2 55 N IN
e 338 1 87 337 929 14,351 614 481 133
H5) 1 X 40 - — 36 174.89 2,512 42 42 —
)1 Hh X 30 — 5 31 99.78 1,631 53 51 2
AR S X 101 1 51 94 220.17 | 3,884 153 137 16
s X 167 - 31 176 433.89 | 6,324 366 251 115
EEl: 20034F L A
(15)REEEXRDAR
HELAT R A
oL & B Z DA DR E R
e w & H¥E(BEREDOH) : -
) ER=2 E3NES B L W
oA T 336 166 122 48 2
HE) H1 X 40 24 12 4 _
)1 X 30 20 4 6 -
B B ok e X 100 32 47 21 1
fis i X 166 90 59 17 1
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